y (x| =1)=(x-sin(3/2my)) (x + 1) =x=x -2y (y* - 1) y(Ix] =1)=(x-sin(3/2my)) (x + 1) =x=x -2y (y* - 1)

=xy-D=x+Nyyl-1)=Kx-y) (yl-1) =x(y-N=x+Nyyl-1)=Kx-y) (lyl - 1)

=y (y+I12x| 1) =(x+1) (x= |2y +1) = x> +y? -1 =Y+ I2x] =1) = (x+1) (x= |2y +1) = x> +y? - 1
=x+sinmy=(y-1)x=Kx+1)(y2-1)y=(x+1)(y+1) =x+sinmy=(y-1)x=Kx+1)(y2-1)y=x+1)(y+1)
=2y -x-1)y=x2-1) (2x2 -y -1) =x (|sin y| - x) =2y -x-1)y=(x2-1) (2x2 -y -1) = x (|sin y| - X)

=(x+1)(lyl -1y=x+1)(y2+x)=(Ix| - 1) (x+V) =(x+ 1) (lyl -Dy=Kx+1)(y2+x)=(Ix| - 1) (x+V)
(V+ 12x] - 1)y = (x+1)(sin(3/2 my) - x) (v+ 12x] - 1)y =(x+1)(sin(3/2 my) - x)
(IxI -1yl -1)=y-12x| +1=(y+2x2-1)y (IxI =) (lyl =1)=y-12x]| +1=(y+2x2 -1)y
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y(IxI =1)=(x-sin(3/2my)) (x+ 1) =x=x-2y (y* - 1) y (x| =1)=(x-sin(3/2my)) (x+1) =x=x-2y (y* - 1)

=x(-1N=x+1)y(yl-1)=Kx-y)(lyl - 1) =x(y-1N=x+1y(yl-1)=Kx-y) (lyl - 1)

=y (+I2x] -1)=(x+1) (x-|2y| + 1) =x2 +y? - 1 =y(+12x| -1)=(x+1) (x = 12y] +1) =x* +y? -1
=x+sinmy=(y-1)x=(x+1)(y2-1)y=(x+1)(y+1) =x+sinmy=(y-1)x=(x+1)(y>-1)y=(x+1)(y+1)
=@2y*-x-1)y=(x*-1)(2x* -y -1) = x (Isinmy| - X) =2y’ -x-1)y=(x*-1)(2x2 -y -1) =x (Isinmy| - X)

x+1) (yl -Ny=x+1)(y2+x)=(Ix] -1) (x+y) =(x+1)(lyl -Ny=Kx+1)(y>+x)=(Ix] - 1) (x+y)
(V+12x] - 1)y = (x +1) (sin(3/2 my) - x) (v+12x] =1)y=(x+1) (sin(3/2 my) - x)
(IXI =1yl -1)=y-I2x| +1=(y+2x* - 1) y (Xl =Dyl -1)=y-I2x]| +1=(y+2x* - 1) y



